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Löse die Bruchgleichungen. Finde zuerst den Hauptnenner HN und danach die Lösungsmenge.
	
1 - 6x    4x - 19 
——————— = ———————— 
   2         6     
HN: ________  L = {     }











	
  3 - 2x    29 - 16x 
 ——————— = ————————— 
    2          6     
HN: ________  L = {     }





	
x - 3,1 = 5,2x - 37,88
L = {     }










	
  5 - 16x    17 - 48x 
 ———————— = ————————— 
    4          16     
HN: ________  L = {     }





	
        1           4  
 2,47 - —x = 4,14 + —x 
        3           3  
HN: ________  L = {     }









	
3,71x - 4,7 = 2,4x - 7,06
L = {     }


[bookmark: _GoBack]



1

© Maria Niehaves 2020
image1.png




